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SECTION - A
INDIAN AND AP ECONOMY

1. What was the primary reason for the current account surplus in 04:2023-24 9

(1) Increase in merchandise exports (2) Sl.“-‘ge in Ser‘vrces eXports
(3) Decrease in imports (4) Higher remittances
2023-24 Q4 & 53085 TS arE Doroents PG S°ea0 D63 9
‘- kS . i RV .
(1) 0%00 Kx50808° 2580 (2) dse OSEE” 2oK¢ses
(3) BroSoges’ S0 (4) 085 3oden
2. When currency is bought at a lower price at one place in the fa_oreign exchange market and at
same time sold at g higher price at another place, this process is called ,JE.E
(1) Arbitrage (2) Rationalization Ofes
(3) Annuity

(4) Semi Bombla,,
BB STEED D56 (37B5)& exsFey BES (355 5
JES 355 §)L§oaoo®é:ab}3<:§e T Bs (BEAD @067,
(1) 06553880 (e30yE3e5) (2) Trdoedsse
(3) SgrEsseo (o) (4) 22 aroey

Tof’en 3, 8 S0nost B8 Ses

Statement A : The RB] announced a temporary I-CRR of 10 per cent on 10 August 2023. %3_3_
Statement B : This action impounded aboyt Rs. 1.1 lakh crores from the banking system, O
(1) Only statement A'is correct

(2) Only statement B is correct

(3) Both statements A and B are correct

(4) Both statements A and B are incorrect

10 a0 o908 I-CRR 9 Ee3oDod.

TS0 B 1 5 555 ergodof 595 S00d Kozt T 1.1 o5 Seas0 Fbiso 3058,

(1) 59550 A smesss 2856
(2) Tggrsso B BVIIRY 98558
Q) TrsTres A sdan B 3
(4) TrsTes A ssdan B 3

2
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4. Which Article of the Indian Constitution €mpowers the Central Government to extend loans
to State Governments ?

(1) Article 292 (2) Article 293

(3) Article 294 (4) Article 295
T50° 6o ? -
(1) «85d292 (2) 856203 (3) 056 294 (4) 855295
) B &
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5. Statement Az In Ap, (.,

pital eXpendif ; . .

Government expendiyye durin:{, ;I(;(:l(tu;ﬁ Constituted less than 15 per cent in the total ;E] 2":

Statement B : Capita] ex i o mitm |
endityre i ‘

creation. Pendityre reflects the State’s commitment towards infrastructure

(1) Ais true, but B is false

(3) Both A and B ape true

SN At oS BSst 201
15 280 5063 é’aégzr;’mn &0
3503 B Soress 3 y
() A, p g io:i:o SVEOIN VTS re S0y S RS (8D,
' > 2) A&Sy, DB
) AREER B30 s E4; A mgg; B a;z; &5
P

(2) Ais false, but B is true-/
(4) Both A and B are false ’

6-21 G Toos BT e Ssahod® soredss S5O0 T

6. Which external fyng;

. ng agency ig
Agriculture Transfo 7S fp

, orting the Andhra p -
I'mation Project ? P g ndhra Pradesh Integrated Irrigation and

|
() MF (2) World Bank
(3) Asian Development Bank (4) European Commission
GOGEHBE 3o3RSE OIS 308 SgIP AL BBSES
(1) IMF

8% ErBE% 506583, ersing e DBy B
/ (2) (5903 ergoxs
(3) esdasy SANTARANSS (4) MIE20HS $ss

7. Match List — I with List — 11 and choose correct answer. (Common codes for En

' lish and
Versions) — | glish and Telugy
List — 1 i&] List — 11
a. Monetary Policy s i. Tax Rate
b. Trade Policy _ ii. Margin
¢. Credit Policy . 1il. Imports and Exports
d. Fiscal Policy iv. Bank Rate -
FOT -1 erDee — I & es8d050) 303 S5 Jowsof’od,
A | A | |
8. (G555 o L 38 Ok -
pin g ii. 5705
b- LQ(E @T’@?\D RE L
C. BEe5 oot ?{?ﬂ fil. Qrososoen So8ak OSo80e0
o iv, ergof Bi5
d. e85 dgrso
d
Codes/s*E ey a h &

- ii
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(3) il b -] ii1
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8. Which of the following statements accurately describe the environmental Impacts associat |
: : T s : ateg
with agricultural practices 7

1. The application of synthetic fertilizers and pesticides may result in soil and water 'L':}le',
. . r";.- -
contamination. 7%

1. Sustainable agriculture focuses on preserving soil health and protecting biodiversity,
111. Modern agricultural practices are unrelated to the depletion of freshwater resources

IV. Expanding monoculture farming supports overall ecosystem stability.

(1) Mand IV (2) IIand IV (3) Iand III (4) IandI1
BEIAW BEB008 S0ABEG &) SIS0 Permros 3od Te3S” O (BESe PHBOrT L. -

L

I 2085638 dtopen $o8a5kn HENHS0HO TS0 o So0akn DS Federdd T 8Os,

=R

1. 35008 Sgsrano So &8 md) $o5§oisco Sodake B3R G0t 700,
1. esgiodE SpSarah $EEoH $0D0e3 S50 §easss Sowogio 8.
IV. 3>S5en6 S53r0irR) DBosto o H07558es 35355 FETAS BFOLBEE8.
(1) Hsobao IV (2) I S6ao IV (3) 155800 I (4) 15580511

9. Assertion (A) : The Indian economy demonstrated resilience despite global geopolitical
challenges.
Reason (R) : India’s fiscal and monetary policies ensured economic and financial stability
post-COVID.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
256 (A) : (39035 FRPE oresdald ST 33)35y038 870 QK B335Y ROYIK: (56560900,
wo5ea0 (R) : erES5B¥0 G0k, €508 S00akn (335 AT §DE BO°s8 &85 SoBaw 5 55 EEE
K0Ty AGDoT 0. § g-?%_u
(1) (A) 508050 (R) Bor ¥352 50050 (R) &30 (xin) oiiagb 0TS DSSe
(2) (A) 50805 (R) Bocr £3852, =9 (R) 938 (A) 63008, 3B A56e 3¢

(3) (A) %8, 570 (R) 82y

(4) (A) 85y, 50 (R) 80

national Monetary Fund. Thig g in . )
* th

(2) Gold ¢ form of

(4) Book keeping entry only

083 ©oBTIAD GBI VO (IMF) @y,

10. Special Drawing Rights is the currency of Intet
(1) Paper currency
(3) Silver and gold both
e A 3 BN ﬁ‘F T 5 . . - )
t;&uq gw;;ﬁ ?{uig(:gu:ml Drawing Rights) 5,850 (532y).
< ) O &DEd ¢
(1) S°AGID S8 (2) 2000

J
_ - Py orm M aoy MR (o0 o 89 =
(3) 3o, worrdo Boltis® (4) DeT; DERO VAT (203 Svof 54,
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12.

13.

14,
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[ndia’s rank in World Bank’s Logistic Performance Indbii‘,in 2023
(1) 15 (2) 27 (3) 38 4) 49 —
2023 & @90 ergo8 VOB TEd SAB JoD) (IS 23;5“3%% 308Ey) & erosdio o508 -T.
(1) 15 (2) 27 (3) 38 . (4) 49 =

Assertion (A): Transfer earnings are not to be included in the estimation of National Income.
Reason (R) : Transfer earnings are not payments for factor services.

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is not the correct explanation of (A)

3) (A)is correct, but (R) 1s not correct '

4) (R) is correct, but (A) is not correct
Bl
55 (A) 1 erdah eordho oSS’ 208 rPasTes BEYIED. ?g;‘

sdee (R) 1 208 eszeoires 556 DS 30D 57D

(1) (A) 50805 (R) B0 DTS 300503 (R) 536 (A) GBoo%), 933 D58e?
2) (A) 300050 (R) Socss HTI SoBA0 (R), (A) G0, DTS DSTed 57
(3) (A) BB, 50 (R) 30O 576

4) (R)3BB, 0 (A) HBHE 5760

The situation where a country simultaneously imports and exports the same product is called
(1) International reciprocal trade (2) Internal reciprocal trade

(3) Factor reversal trade (4) Intra-industry trade

15 Biio D008 28 e BR 16308 THHR So0a) MNOHD. B SORE B Gobd T3S B 0Tt 2
(1) eoscdo 380 Toedess0 (2) ©oBES S Tedesgo

(3) b B35S €35 (4) goer-gosg E&

Which of the following statement(s) is/are incorrect regarding the GST Council (GSTC) ?
[. The GST Council is a constitutional body established under Article 269A of the Indian
Constitution. “ y 3
Il. The GST Council is responsible for making recommendations on issues related to the
Goods and Services Tax. i
lll. Every state does not have an equal vote in the GST Council.,
IV. Decisions of the GST Council require a three-fourths,;majority of the weighted votes

of the members present and voting.

(1) Tand IV (2) I and III (3) T'and III (4) Only IV
GST 30y (GSTC) & Sowohod 308 585330@&5@@56 DB/ SBy ? EIRE
L. GST &S @30 768 @aavéoﬁoéﬁ?o esQ5S 269A (5750 FDoBBES 8.5 Coergolt Do o

1. GST TS ereigsd SHD™ < 5B0%30 250 DS BoLOGODS HIV5U PP BabEo .

. GST TGS & rghdd 3T & &otieso. :

IV. GST 3D GBootsy, DgTesd %09 $08aK> 830R BT, Dg050 S0BE 84S Treoho
Sorhs Sothow Rowrbel @SvSo. i

(1) 130base IV (2) T1 50005 T (3) I 306a5 111 (4) 1V 5353

7 (C)




[5. What is the significance of the new payment settlement framework introduCed by the RB]
- in the context of the Foreign Trade Policy 2023 2
(1) It discourages the use of the Indian currenc

Y in cross-border trade
(2) Itaims to encourage the use of the Indian

currency in Cross-border trade
(3) Iteliminates the need for foreign exchange reserves '

(4) It increases transaction costs for exporters

FEIRE D38 srelesy Dorso 2023 PoGyE® RBI

e

. @3%33395 58 300 »

TR 35035 008, 5058585 D263 7 i
(1)
(2) R0 oe3es08® ersBags SSHON SIBTABER) PFesironco &2 S
(3) 38 283 s> Do VIJTY Eofgod

(4) 38 3BT Sres, D PENOS o8

16. Statement A : India is the largest producer of milk.

Statement B : Indig is the second largest producer of fruits, vegetables and sugar.
(1) Only statement A is correct

(2) Only statement B 1s correct
(3) Both statements A and B are correct
(4) Both statements A and B are incorrect

TGV A 2 grE8THO 081 Fo eBE.

T5F§N0 B 2 e758850 Bothis 08 B Bow, SrEmahes Sodakhs SO &S B, ®
(1) rggrgso A Sooesso e

(2) ogargsso B sSo@o 5358
(3) Soo Dgrgoren A sSodako B DBID

[=]
e

(4) Sotd rggrgaren A So0ako B VO 5D

17. What challenges does India face in managing its oil consumption ?
(1) Lack of domestic energy demand
(2) Consistent global oil prices

(3) Supply chain disruptions and fluctuating global oil prices
(4) Abundant oil reserves

[=]
: ~, - ™ p 9 B 4
30080 DABTIER) VBar0itos” grEsBso daroed DEB AT 008 7 o

(1) BRDH oS &srok 88850
(2) RPEIOS LOSBETHAD B508 S

5 : :3 ?‘iJEJO
(3) JEHO° Foo0 (D BONS) e90SBCPasTen So80%0 eoBEHAD SB0Es e TS0
(4) DHworr BS0080 Jogew

(©)
8
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18, What impact does an increase in the GNP deflator have on the purchasing power of money ? l__El"“:i E_I9
(1) Increases purchasing power (2) Decreases purchasing power E&
(3) No impacton purchasing power (4) Enhances the value of currency
GNP 31:3_@5 ONOB ey Saofen ‘-é‘%}_n QEP0Ld (g0 133°e00b ?
() Crof oo 830 Dotodood (2) oo 932 $AKge0
(3) S0 B8 (Farso o (4) 580y DB DoBOBIH
10, In the Union Budget 2024-25, the GOI has promised funds to the following industrial nodes as
part of the development of the Vishakhapatnam-Chennai and Bangalorc-Hyderabad industrial

i s o N e e e

corridors o
(n Kopparthi and Orvakal (2) Chittoor and Donakonda
[3} Orvakal and Donakonda (4) Kopparthl ar]d Chittoor

305 035 2024-25 &, DTPSeno-IF) S0800 BoNITE-TETYE FOFE $ETo ($0=Y)
£DHQE" GRS O FOFAE TGO, g (5500 58 HHFANo eodined ?

) 59:339 358052 E.5ES (2) DT> 300K FST 0

(3) E5ES S0B0 BSOS (4) S5y 3000%0 DBEFEH

20. Which of the following statements are correct regarding PURVODAYA scheme introduced

by the Government of India in 2024 ?
| I. The PURVODAYA scheme aims to improve infrastructure in the eastern part of India.
L S

II. It deals with Buxar-Bhagalpur Expressway.
lll. New Delhi-Kolkata Industrial Corridor is being developed as part of the PURVODAYA

scheme. (=] 2 m]
V. i i is the devel ] =
The primary goal of this scheme is the development of ’C:I_E_]‘a_rgl State. [
(1) L II only (2) LIL I only
(3) IL, IIL, IV only @ LILULIV,

2024 & o5 B80S0 TS 38 0% BESRVE BooRoDS Bod (SELSOS” $BBosd 52 -
. 8 at B0 GrosBiEos™ S8y @roBo8 STOK BEoFrasrems JoBrhusste osorr

::m@ggoa.
ERE
. - £ ~, .g) &. ol 3
Il 20 e5)5-arremb J5yRRR% Sowotoro A -

. 557580-Sdte FoE-s 500 wdRHY SE s 56550S® g0
IV. Koes00 origo ey B R0 OFgC:
(1) 1, 11 3= (2) L II, ITT 3o

(3) 11, II1, TV S57¢830 @ LI 11, 1V
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21. What was the purpose of the 49 fine-tuning operations conducted by the RBI during FY 2024 9

22

23.

24.

(1) To tighten liquidity conditions

(2) To ease liquidity conditions

(3) To maintain liquidity conditions in alignment with the monetary policy stance
(4) To increase the money supply

FY 2024 & RBI 3 d52rouseds 49 385 sargioR eSO &G0 Doed 2

(1) (B358¢ DOJSo0x BSSS0 DS

(2) (©B3g8g DOPBOVS RowgBSo SaHrdd

() (OIS SPBE esorrerom (358 BOQSBLOSO Vel veuetnl it

(4) Gegy JOFoe oS

?;’EIRC§1 r?f the following are included in the Reserve Bank of India’s Foreign Exchange Reserves

a. Foreign Currency Assets (FCA) D0 b. Gold

. . g L) Al
¢. Special Drawing Rights (SDR) [ d. Reserve Tranche Position
(2) b, candd only

(1), aand b only
(4) All the above

(3) a,band conly
Be:55 e7508 &5 godatr BB sy B35 Vosos” (05 I8, yoif 0esbs) (FER) 808 763" 9

Do ?

a. 0% L8y esdyen (FCA) BEE b, oo
c. ©3sE @rooh SrEnen (SDR) [Eits d. gesbs eroS S0
(1) axo8a%o b SEsks (2) bye So8akn d Soogts
(3) a, b $o80%0 ¢ SR OF: -
Which Indian organization is responsible for estimating the National Multidimensional Poverty
Index (MPT) ?
(1) Planning Commission (2) NI.T; Aayog .
(3) Reserve Bank of India (4) Ministry of Finance
S556 59230358 5§ 50aE) (MPDR o Sabadd D rsBab doi ereiessimmoed o
(1) Berds Hosoo (2) NITI ssGBh
(3) Besbg ergof esd ok 4) eQ8 S0 TP

The severe balance of payments crisis, faced by India in 1991 was charactf:rized by
(1) High inflation, low foreign exchange reserves anda large fiscal deficit

(2) Rapid industrial growth, increased foreign exchgn_ge reserves and a trade surplus
(3) Low inflation, high foreign exchange reserves and a balanced ﬁs.cal budget

(4) Strong foreign investment inflows, low inflation and fiscal deficit

5
19918, gr588do 0875y @@;35 5By &5 DB00edy S0§’%0 8od o S55008. %;jg
(1) efs Sga o, S DB S35 Deges SO0 2 (535 660
(2) SHICEID TOFWE )8, BOAS IBY ST6E Dexew S0 Tredesy Worden
(3) &8s BT5eer0, OBE BB Srey Dexen $o00%0 :::ma:eg 08 3e5
(4) 205 DBB RO (S0, B33 (5T 590 So0aK0 ey Sen
10 (0)
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25.

26.

27.

28,

'Undﬂ" the Industrial Policy of 1991

nt - e - . 1
1) The mandatory convertible clause is applicable to all term loa
ans O

S

@) The mandatory convertible clause is applicable to term lo
(3) The mandatory convertible clause is applicable to term 10ans © -
@ The mandatory convertible clause is no longer applicable ?}%ﬁ
1991 FPHFTAE PO (B35 C0

(1) 5000 53582308 DG e 038 &St 363900

() S350 S550w06 De0Gss 10 Soxscre Kol dxop ey &0 5853308

() B0 5558208 VeSS 10 o0 Kol Sy €:5; & 00D 25873300

(4) SHINO 5302008 Deaogss BED SO o

f less

At what subsidized price per Kg did the Government introduce “Bharat Rice” for selling throug

NAFED, NCCF and Kendriya Bhandar ?

(1) Rs.2 (2) Rs. 29 (3) Re. 1 (4) Rs. 12

NAFED, NCCF 350005 So8a glomb oror DEanosm ({ghisso ‘arts O J 2558 O G
558 BRF0eI0D 2 b

(1) Rs. 2 (2) Rs. 29 +(3) Re. 1 (4) Rs. 12

"

Which organization launched the Credit Guafar;itee Scheme for the Livestock Sector ? ;{;%%[%
(1) Ministry of Finance . i
(2) NABARD

(3) RBI

(4) Department of Animal Husbandry and Dairying

St GormDA §ée5 mgBotd $ETR O B0 D ?

(1) e85 So0HSg 3°2

@) e

(3) RBI

(4) 5% D05 Bobao FEOOE TP

Which initiative was launched to provide a tap Water connection to every rural household by 2024 9
(1) Jal Jeevan Mission (JJM) " (2) Swachh Bharat Mission (SBM) .
(3) PM Poshan Lo AMRUT
59 (T2es qo3d 2024 638 Hwro Ded SO ©oBOSERE D SsES0 PSodosnded o gz‘]%%
(1) &0 s 255 (IM) () By 858 2535 (SBM) i
(3) PM 255 (4) AMRUT (&5350y5)

11
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Post-cconomic reforms, the Indian economy saw a shift towards
29. Post-ccc _ y b
(1) Increased government control (2) Reduced foreign trade

(3) Enhanced global integration (4) Decline in private sector growth

: 50858 TPOOST, 8IS egDK ¥ 5 (8 SNy ]
es05 DoOeI0 L0080 SPTOCe, P UQQ :35@%, L§O€} §@§0 rwi:ij&
(1) RgO8; aLowes 200D

(2) D38 edesso Shod
(3) S0ORS BBV (s oe3RsS)

(4) @RS 586" Sencs

30. Assertion (A) : India’s real Gross Domestic Product (GDP) grew by 8.2% in FY24 despite g
and external challenges. Pite glob,

Reason (R) : The focus on maintainin
had minimal impact on India’s econom

(1) Both (A) and (R) are true and (R)
(2) Both (A) and (R) are true, but (R)
(3) (A) is true, but (R) 1s false
(4) (A) is false, but (R) 1s true
@53 (A) @ (B3H03 508050 25 WO

g macroeconomic stability ensured that these
> , o
1s the correct explanation of (A) Eﬂ?‘
is not the correct explanation of (A) ’

chal]engg.

% G3yoyedd FY24 & arosds o755 GDP 8.2% 30700,

S*oe0 (R) = 3o 0¥ ?86@5?‘)&. S I>RoWEo 2 Gy SoEBosSo 59 &t ST eSS O Sgii
BENS (D87 BITPo. ‘

(1) (A) 358050 (R) Bocss Deso 500050 (A)  (R) $BS DSE?
(2) (A) $98cs0 (R) Bockr Jeo, D) (A) & (R) B8 DSe? ¢
(3) (A) Dezo, 5 (R) Sy

(4) (A) 85y, 5 (R) Deso

31. Which of the following factors could potentially contribute to stagflation in the Indian economy

a. High inflationary pressures due to increased Government spending. %“E
b. Decline in industrial production and sluggish economic growth. ¢z

¢. Decrease in aggregate demand and consumer spending.
d. Appreciation of the domestic currency leading to reduction of export competitiveness.

(1) aand b only (2) bandconly
(3) a,candd only (4) All the above

Bobd 38" D ses grs eBY SeSeE” SRSt (FAFRS) 860 Jahes ?
a. DORS [Bedss S50%0 SBEore ey (S e t8s. -
b. TBEDE &8’ Eeads 500090 So0BACDS LBE . L \;‘ﬂ

c. Boodso BT 5005 IVAFKE S5o0s” SR,

2355 BBAKH BBy Dess DEKGS.
d. 0508 DeSBErg) SNoSEDL OB .
(1) a %8050 b SrESs (2) ? igaoin C SIS0
(3) 2, c SoBcso d $EESd (4) 25 ¢
12
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which of the following statements is/are correct about Foreign Portfolio Investments (FPT) in

" 024-25 7

1. The Indian Rupee (INR) moved in a narrow range with low volatility despite FPI outflows.
|I. RBI set investment limits for FPIs in debt instruments and Credit Default Swaps.
j11. FPLinvestment limits in government securities and corporate bonds remained unchanged.

[v. RBI issued an operation framework for reclassification of FPI investments beyond ?ﬂ E';lg
permitted limits. @3%5»

(1) Tand Il only (2) I and IV only
(3) All the above (4) None of the above

2024-25 & BB FPEFPOE> g HIooeSe (FPI) Kodod $ob 5508 DB(D) $ISB() ?
[ FPI iy S590en (2256596 00) éisydye3d aras 8raran (INR) $599 eREBE IS
338’ 5600.
I Boes FETe0 SoBAk0 toes Do 26O (B&eS &g JsH)ed” FPIo £%50 eagends HBABOOB

RBI Qgcooodod. _E‘;E_EI
I g0 25758308" So0cks 56°8e5 eroté® FPI 2epe0d $30Dotoen Sro8so. (o]

IV. e:50508008 $0D000% Doods FPI 2eaecess S8A $050056°08 RBI .5 s°0vgises
JPGTO (SITVDQ (w0 385 &8 Bod.

(1) 15080%0 11 S0 (2) I $000%0. IV Se530

(3) 25 (4) 23 5°o

Match the sectors given in Column — A with their corresponding Gross Value Added (GVA) Growth
Rates given in Column — B (Andhra Pradesh Advance Estimates of 2023-24). (Common codes for

English and Telugu Versions) ER -
Column - A E‘ﬁi Column - B
a. Agriculture and allied activities A. 521%
b. Industry B. 8.02%
¢. Services C. 1.69%
A3 Teod’D 500, ©6& ToS8® T3 50200 (SOESRBE 2023-24 32055 BoSTre (HEE0)
GVA 518 BeSo&’ 502en0d.
oo — A oo — B
2. IG5 A0 SoBoKw @&50206 sogSorred Al 5.21%
b. 58w B. 8.02%
C. 230 Soko C. 1.69%
Codes/5% G e : a b c
(1) © B A
@ a B €
(3) B A C
@ C A B

13 ©
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34. Which of the following mechanisms is N.(")T primari[y followed by the S
"7 ndia (RBI) to manage exchange rate volatility ? ank of
(1) Fiscal Policy Adjustments
(2) Foreign Exchange Reserves
(3) Market Intervention
(4) Liberalized Exchange Rate Management System

208 DTS’ SPONG Bedo 9GS0 g :
gfi)&’)@féd’p ? 2 OB Ager0iicsDS Besbys emgof s godan (RBI) gSgesor &

(1) &9§§ DE°S mdgaj"eag EE]“E:.]
(2) B8 375K degen E;]’;g“

(3) 82'13"’52}&5 §S§§O
(4) DOV S8 Bew Dees Sials

35. As per the Budget estimates of 2024-25, the percentage of public debt in the GSDP of i[ﬂﬂ:]i
Andhra Pradesh in FY 2024-25 is estimated as @
(1) 31.46% (2) 34.14% (3) 33.71% (4) 32.60%
030036 05e5 2024-25 ©s°t0, 2024-25 3B 00381508° es03RBE GSDP &' (Hg0is S T
JE® BOTT® JALLG0S.
(1) 31.46% (2) 34.14% (3) 33.71% (4) 32.60%

36. Which of the following are used for measuring of the high-power money supply (H) by RBI in India’
(1) Currency held by the public + Other deposits with the RBI
(2) Cash reserves of the commercial banks + Other deposits with the RBI
(3) Currency held by the public + Cash reserves of the commercial banks + Other

deposits with the RBI . _ _
(4) Currency held by the public + Cash reserves of the commercial banks + Time deposits

of the commercial banks + Other deposits with the RBI
558508 ©E-5356 S0 32 (H) a5, esS” RBI 3R &38rNR08 ?

(1) eso 5¢ &3y 502y + RBI 5¢ &) 356 Are3e

(2) Tredesg ergOS00 SK¢so dexeo + RBI 56 €3y SO Ge2e
(3) (oese ¢ &y KON + Tl a5 515650 Dogeo + RBI 5§ &) 380 &aveggn -
(4) Deo 3¢ &5 SO, + Tedey w500 SAEO Dexen + Tedesy 2500 VPO 2
=] “E]

RBI 5¢ &5) 388 Gareey BN

.3 o]
37. Which of the following is not a method of measurement of National Income ? Eﬁ’f“:;nl
(1) Value added method (2) Income method i
(3) Expenditure method (4) Cost and Accounting m
808 T3 rBos esmrairdy OB 5¢ 0 20 7
(1) Deos £GoDS 58 (2) oo G s
B) 55 Sg (4) i Sobao @ ool 3G o
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E

o
oty
| i



2G/202

W, There isno GST on which of the following ? @“E_,l,
- ~ petrol m.1d Diesel ii. Liquor '@;’E—"

s Electricity supply to consumers iv. Services of Charitable entities

() i ii only (2) i, ii, iii only (3) i, ii, iv only (4) All of the above

2.3 o3 JeID GST 80 ?

::_@Sfc;c 300000 ) 11. ®§b5/m(‘5§m

L OBTRETOO De30gd DOHO” iv. Trayss Soge e

(1) i it SIS0 (2) i, i, i SR ?3) i, ii, iv S0 (4) 25y
20, As per the Economic Survey, 2023, which of the following statements correctly describe(s) the
" rend of Foreign Direct Investment 1n India ? ERE

2. It has decreased due to less participation of the private sector. fé] :,..,

increased compared to the prepandemic levels.

b. It has
Financial Year after the telecom sector

It has increased rapidly without decreasing in any
was entirely reformed.
d. It has decreased due to a weak global eco

C.

nomic situation.
(2) band d only
(4) donly
$5e5D¥08® DBV (HsE, DRI B35S Bod 738 O EES(e0)

(1) aand c only
(3) a,bandc only

5008 153, 2023, 5750, &°

2583008 / DBOXITHON ? o
a, (HoodeS Sorfo eI 53050 BE)IT EoEeI0S 30 $Hod. ;E,;;%
3 Cfg=

b, EomE Foned 2085 30 2ORCR.
c. 8Osro Soko o Eﬁoébéoxﬁaaé?\’) Bo°O D Sl éozﬁe‘é‘bfjoéegjy BKS0E SKore HOR0E.

0. wobrisRos (D05 wQy BORD STEeor 30 BROD. o
(1) a So80%0 ¢ S0 (2) b o d S

(3) a, b 35005 ¢ STESB (4) d 5

40. Which among the following statements is correct ?
(1) Balance of payments includes current account and capital account

(2) Balance of payments includes only capital account
(3) Balance of payments includes only current account ,
(4) Balance of payments includes only export and import account <"
5 2oB HEeSeS” D0 BONE ?
(1) 300D 33°5@5Q®6€ 5005 P SOB0KD 0TS PPE® ot o
2) 20D w5@§3@55 S505°06S T BTN &otod
(3) BV ersBHS £B0tS T SPEI> ot
E £ & 508
(4) 3D 3305@(3‘3@56 D532 A0 B0 g 5S> dotaod
15

P
e A"



41. What is/are the goal(s) of SEBI's new move to introduce T4 0 settlemey 9 f‘lﬁ;. 2(-&_
1. To enhance liquidity and reduce settlement risk in the stock nnuku L]}t
I1. To minimize counter party risk and enhance market efficiency, .~
I1I.  Potentially reduce the impact of I1;IE.II'I(C|. vnla%il‘ity on sctllcmcnt.,
IV. To increase operational expenses for market participants, v
(1) Lonly (2) I, IT only
(3) L IIL 111 only (4) All the above
SEBI £ 338263 T+0 2363005 B (573 050 20e3 ?
L (985ced) (6553508 Boiseso 5001 L SrTEIE” (36005 8%y 508 (557er, e
[I. 8% errBIE 3886 F§ (Fotrony) B5Tmed Shoito Sobaks S78)e 55 o
IL. 282502 $078)e5 efytses (e Sogrdson Showseio. B
IV. 5585 ariidrgsoons: (rghboey) SOsisse PEnwis dosto. it
(1) T3S 2) L 11 37535
(3) L II, I So°835 (4) Z,o‘jfdx

42. Statement A : All India Per Capita Income for the year 2023-24 (PE) is estimated at Rs.] 847

Statement B : All India Per Capita Income given above is lower than the Andhra Pradesh
Capita Income for the year 2023-24 (AE) (at current prices from 2014-15 to 2023-24).

(1) Only statement A is correct

(2) Only statement B is correct

(3) Both statements A and B are correct

(4) Both statements A and B are incorrect

Tgamgo A 1 2023-24 5058)0°08 (PE) Foogo g7r088%0 ool S0kt earaio 6. 1842007
e90ST° BALEOD.

5590 B 1 2 30080 g7080%0 S0 eTrafo, eotSaE 2023-24 (AE) Sust emrdls 7

(2014-15 5508 2023-24 558 G558 S50 Ss60). e
(1) Tgrgso A 57550 5056 e
(2) Tgargeso B Srgsdo 883
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43, Mateh the i‘ullq_Wng Central Institutes established under the A. P. State Reorganization Act, 2014
* with their locations. (Common codes for English and Telugu Versions)

4. Indian lnstftute o’r: Teclmology S~ 7 i. Kurtiool I_-:'?,E-@
b. Indian Institute of Management ™~ L i Tirupati E?‘;u

. All India Institute of Medical Sciences™. / iii. Vizianagaram

d. Indian Ins.titute. of Information Techno]ogy..-ﬂ /~iv. Vijayawada

e. Tribal University : / v. Vishakhapatnam
soPRB8 TP DIT55e8tes W80, 2014 Eots DOV B (B0 SoBah oo T3 TTed
356;35&30&- 3 %

a. R0G0OND 3y, ¢a775e5 e eBgca@é

L]

b. REGAND 4, 7S eH Do, 00 i, B
c. @b ao&gﬁr ), 8007585 e DodsS RO iii. DeahsKSo E F
d. 3OO Q:D&Jwéeg N 3533&55 ﬁ?aeé 1v. Qescfoards ?"ﬁ
e. NS 2)‘553@5@0‘530 V. 3‘5“’%35@&0 Bz
Codes/S*&Een a b ¢ d e
(1) L S 1 R A
(2) v ove iy iii
(3) Looiv i v i
(4) 1 v v il i

44. Which of the following measures
Balance of Payments (BOP) ?
(1) Devaluation of currency
(2) Increasing import tariffs
(3) Reducing government spending on domestic projects
(4) Encouraging Foreign Direct Investment (FDI)

3Bope a8y (BOP) & essilotoogisd S8300aS $od eds’ 06 Forseor
GRIABTAODRIEED ? o
(1) $3y Do $HoD

(2) B3 BoosPeRd VOB .

(3) BB rEKED @S S5oir) St

(4) BB sy Bepeoosds (FDI) @Feprodeo

45. How does the introduction of the Standing Deposit F{?"lllfy (SDF) enhance the Reserve Bank
of India’s (RBI) liquidity management framework !
(1) By increasing the overall liquidity 1n the banking system
(2) By absorbing surplus liquidity without the need for collateral
(3) By keeping the cost of liquidity for commercial banks constant
(4) By providing long-term loans to banks at lower interest rates

o = ; 5@0&3 62«‘35 AR Og (RB[) &5 o2 & O5es
Jolof adveS 383 (SDF) (534 duce:0 &7 s 750 (5355 023y e
e moo?,mg; (D83 55830065 (H5o356),) D BOCMHBD00 2

(1) ergodoh sysiss® Sogo (53 0BS5S (936:ed) posStio T

< Koo ®
(2) (ess50hE) 550/ SS9 (collateral) et0 Bow orbes DAL Rrosto oror

E¥elolaN éo{ﬁﬁéo CT‘SU“
(3) Tredesg ergoBo0 DEe 9 375 o5 ©0B0BE0 T0"

£7°
(4) ergoset S S 08 BysdE &
. (©)

is NOT typically used to correct a disequilibrium in the

7 2]
j%u
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46. Which of the following is not correct regarding the railway project under Centr

i : i 7 ‘o al Aco.
approved by the Union Cabinet for Amaravati in Andhra Pradesh ? SSisty,

Ok

(1) The proposed railway line is between Errupalem and Nambur EEJL
(2) The cost of the project is Rs. 2,245 crores for 57 km T
(3) The line passes through NTR and Guntur Districts in Andhra Pradesh and Khammg,
District in Telangana
(4) The proposed time line of the project is 6 years
LO(SEBES 9500758 §%%0 Elells SO0(B5F0 eBIPE00DS Fo s Do (Eods §6§ Lf}-g;gﬂ_i —
5 Eo8 T3S DB BT (DS T 9 |
(1) (BBIOE BB BS GO Bo BB S0 50635 &0d
(2) & (@TEK S5abo 57 85" Doeadsn 8. 2,245 E'ex
(3) &3 B85 8BS e0@RBES D IPesd $080H0 HIoeaTE> Eere Docsorr 550050 Boorred™R gy
e2er MOOG® IFOBOOE
(4) (PrE5y BOIOS PBOB 6 HoIG o

47. Which of the following reforms have contributed to the improvement of the Ease of Doing

Business in India ?
(1) The introduction of GST (Goods and Services Tax)

(2) Removal of all foreign ownership restrictions in Indian companies

(3) Nationalization of all private banks

i ises i ERE
' i blic sector enterprises 1nto new sectors EEs
(4) Expansion of pu i) W S
e SBB TS Tgroe Dabiso HePBSo DS o8 BORORS,
(1) GST (3233920 5500500 HI© H5:39)) (¥ 2L 5
(2) eroBah 5oV @ 7B oSTesSTSg BOBIO FTONoREo
(3) @y PRES eT°§OS0 23o&HoOTPESE?
i &8 DYoo |
(4) (BERSEoN HOROD §°g SomL= = dominantly corr(i’f'[‘:lI
i mi
48. Which among the following classifications of unemployment is preco
. 1
with the agricultural sector ? mployment
(1) Cyclical unemployment A2) Se.a Sc.ma] e Joyment oha
(4) Frictional unemp ; ‘E;?“"

(3) Structural unemployment S0 SOR 00
DB go Gk, Bod $BECmOE’ DB EFTSO
(1) B8css ’&)Cﬁa(’f}%ﬁo
(3) Voerd s VS gHo

77 S5m0 Solos Hoeo
(2) sersorioe OO
(@) Sog5es/3OBYRITE
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. >lator is the St ¢
49, GDP (}Lﬁq 0_1 ® t-hL m%t, comprehensive measure of inflation as it is the ratio of

(1) GDP at National prices ¢ Local prices

(2) Real GDP to Noming| GDp ‘

(3) GDP at Low prices to High prices

(4) GDP at Current priceg to Constant prices
GDP A58 ¢38 B8 Toe3 D% =

- mgm o gﬁ - IR E50% w0 (SRRNES oo, o BIoIRS So %‘%
( " S0 ﬁgé’ﬁ S&e ¢ GDP & .

(2) T3 GDP & 558055 w3556 GDp &
(3) S5 B8 & $508a%a; QX S50 58 GDP &
(4 BRS 6580 55 BoBass Jemus et 5¢5 GDP &

50. Chadalawada village where a Cattjo Breeding farm i i
5 _ wi ; .
Rashtriya Gokula Mission belongs to Whiz:%gD?;?:i:; ??S‘Eabllshed under Gokul Gram Project under

(l; Guntur (2) Prakasam (3) Nellore (4) Srikakulam
T SS 3302’73568?3 RS (eSs °RE 8ot v 8B Fo (5636 A)EoR J5o) Doy Dasoerds
JROTE (P00 & BT JIodSE ?

(1) Kootas s 2) P=%o (3) Jorss (4) 3530

51. Which of the following is not true about globalization and its impact on India ?
(1) It has expanded trade in goods and services

(2) It has led to greater flow of Foreign Direct Investment

(3) Increase in exports is greater than increase in imports.

(4) Increased India’s access to foreign technology and investment
E90DE5es SoBATw RSSBE0D TR (HErS0 80D 508 IS D8 Devo 57 ?
(1) 30 S5ape0 300050 Dijed Federgd) oD

(2) 36 DBS HEgY Desgeie ©FS FTTRE T0dhod

(3) Brostow EMOGO S08 JbSoton PEIOBO S

(4) rosBeD DEB FoEHES $oDAK0 HERPES BOGTETO BoDod

:
¥.

o
; . P ey
32 Which is not a correct statement regflrdmg Ryml g;gzaars in Andhra Pradesh ? e
(1) Rytu Bazaars were established o thf: yeﬁf;icer of Rytu Bazaars
(2) District Collector is the Co—ofdén?tltrég(;fﬁcer
: sta
(3) Rytu Bazaar is managed by anﬁxed aiming to be around 25% above wholesale prices and

(4) The prices in Rytu Bazaar are
25% below the local retail pri

@OL@@B%GSSS 355 2323°C2§3 $0e060

(1) B ety 1999 & FROULTE

2) B mes”gmzﬁsio55053 @@gﬁggiﬁné .

(3) §o:§o o550 IR @f,;i Zéi, g;gﬂ 25 J5op3 35000 TS BB 550 Kol 25% ST

(4) Beso 2erbE R GO

ol o0

ces
2 2od 59638° DB TOD 05D 5°¢80 ?
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3. Which principal methodology is employed by the National Statistic
" standard mechanism for assessing and quantifying the unemployme
economy ?

(1) Quarterly Employment Survey (QES)
(2) Annual Economic Survey _
(3) Labour Bureau Employment-Unemplo
(4) Periodic Labour Force Survey (PLFS)
P08 Q8 SpSRE” S gNS Fawds oSt Sanh
seorgoaio (NSO) @ 30 SZEY @Pr5e3% avo@ro
(1) BI7E &Q 535 (958°53) (QES)
(2) 295 e85 53
(3) B8& 28" Qo@goﬁa@ao&—?\)dﬁ%ﬁ 535
§ —s :
(4) 20rEE 8238 &y 335 (PLFS) (55583520 SHE ¥ 056%)
54. A budgeting
beginning is
(1) Functional bud geting
(3) Zero-base budgeting

B 32850 &5 oo 2
(1) Do53S 2ge3oh
(3) &8°-8% ge3oh

55. Match the followin

al Office (NS

O) as th
nt rate within t ¢

he Indiap

El]"‘!

§

yment Survey

@S HBAD BYOSEDR ey

QD Negox
Hory éﬁ(ﬁ}“ﬁ@o& 2

(2) Master budgeting
(4) None of the above
() R ]
GOS0 Botsed Soodk DGor 50050 5 Fes EEa E-]e't‘ﬁ-
(2) =056 205¢30h e
(4) 23 5%

g Special Economic Zone Production Units in (List-

I) with their locations
(List-IT). (Common codes for English and Telugu Versions)
List -1 List —IT
a. Divi’s Laboratories Limited-Pharmaceuticals i. Nellore
b. Parry Infrastructure Company-Food Processing ii. Kovvur
c. White Field Paper Mills Ltd.-Writing and Printing Paper iii. Kakinada
d. Indian Farmers Fertilizers Co-operative Ltd. (IFFCO)- v.  Visakhapatnam

Multi Products st s w5 g " )
BoB HB5E e38E $00tiroS’ &thB Sorrod (rer-1) e &) E3Tes’ (wder-I1) 860l

a. OID T BLOD OWEE FT0se3sSD i SDQ?:@ e
b. 56 38" RHE Lo-»& rRoR F st . ?Psd) red
C. De5HS 296 oy DNBE-Be30h S0B0K0 Poedon il s8ees
a4 melank 35,55 20805, E-es:58e35 DSE. (IFFCO)- iv. D
25T0Y &EBe0 ;
Codes/S*&Een : a b ¢ .
(1) v 1il i .
2) v il il 1
(3) i i v i
4) i i v

20 (©)
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iy o statements about non-plan expenditures of the Central Government is
woohoof th o
which 0

COTTCL\I ’}

¢ followin

56. _ N— ik
. oo expenditure 18 ON interest payments
RLLsgie \diture 1s on science and technology

) The expeiitt S
:: The g\-pcudtiurc 1s on agr iculture
E X[

4) None of the above )
e ol RerPSE0 (non-plan) PEN® MHB0D $od HELSeS HE Q838 ?

fries

<7, Match the following minerals (List — I) with the erstwhile districts (List — IT) where they are
* predominantly available. (Common codes for English and Telugu Versions)
List-1 List — II
a. Apatite 1. West Godavari
b. Asbestos ,1i. Nellore
¢. Ball Clay iil. Visakhapatnam

d. Mica ; .1v. Kadapa e
390 e (Do - 1) e BErsor ofod I 2rod (Do - II) $50Fo0d.
202 -1 ErE S |
s ?" i 938 Foesel
b &35 o T, '
¢ o3 i, DEgiseno
4 % v, %%
Codes/S*Eess i ? ¢ d
(1) o oiv, i ii .
2) i v i i
(3) ii i i v
" (4) ii i v i
. Eﬁiﬁﬁ‘;ﬁ g - Andhra Pradesh ranks 1% in the productivity of Oil palm in India.

0 - Andhra Pradesh ranks 2™ in the productivity of Mango in India.
) Only statement A g ST

(2) Only Statement B is correct

(3 .
(4; }:[3;0‘[1;1 Statements A and B are correct
ot Slatements A and B i ect
- are incorrec , - <
Tmeso A , 558 g 1 9 o’ ¢od. ERE
oA L TR0 s 2155 O Y5558 wo@-tj?; S;&o 2 5 508k 08, E&q‘;":
P B FOEHE 570 Yotk éa@”i}‘ﬁéés e,

(4) Boes %gf‘” A 5085 B 900 )
SV A 5805 B 5890 579 @
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59. One of the following is not the standard incentive to the industries offered by Government of Ap

based on the AP Industrial Policy (4.0), 2024-29.
(1) Decarbonisation subsidy up to 6%
" .
(2) 100% stamp duty reimbursement on purchase of land and lease of land/shed/buildings
(3) Reimbursement of 100% fee charged for land conversion
(4) Maximum capital subsidy of 15% of F oreign capital investment

AP 830K Do (4.0), 2024-29 (35750 $ob T7¢3S" 28 AP (580850 $0F00%0 woBoBd @rSTe3s
FPEeyEo 5760 ? EIRE
O
(1) &SRS 5DE 6% S5
(2) g0 SRoR’en $o00K0 Gl /ey g desd 100% 05 crged HBA Yo
(3) T S8)E D DPoSES S5 100% SBA 30D

(4) DB Sarreess DenedS® KOPo 15% Saress SDyb

60. Statement A : The Gol fiscal deficit R E for 2024-25 is 4.8% of GDP. I;EI?EJ,

61.

Statement B : It is higher than the Fiscal Deficit B E for 2025 —2026.

(1) Statement A only is correct (2) Statement B only is correct

(3) Both Statements are correct, (4) Neither A nor B is correct

(356% A ;g7 (38035 R E 2024-25 &8 &ex GDPS 4.8%:

[=]%0s]

5565 B : 30 2025 — 2026 B E &85 &'én oifar 837 I

(1) ©5es5 A ST 888 (2) 555 B S35@30 3858
(3) Bock (BB BTED (4) A 5o8a50 B Sodir 50 52

A person who has ultimate control over the affairs of a factory under Factories Act, 1948 is

called
(1) Occupier (2) Manager (3) Chairman (4) Managing Director
oo 630, 1948 (B0 Soyws SR ©od Dapoes SO &) S50 qom Hexd 7
(1) estospans 2) 3366 (3) 3G (4) 353e0f 2o55
(©)
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EBE oy the following irrigation projects (List — 1) with the rivers on which they are located

0l

63.

.

Mate

1D (Common codes for English and Telugu Versions)
{1,15 a4

List -1 . List — 11
gomasila reservotr -l Cheyyeru
 Thotapally project s 1. Penna
l: llnnal!l)lﬂyya project %E% 111 Manneru
4 Rallapadu - iv. Nagavali
106 DesEatse FEREN (DE — 1) 3638 Bowogodss Sthed (erder — 1) 0Fe0d-
) e — 1 0 — 11
a, 5030 6230"5®5 I 60‘30563
b, Send B ii. 2o
0. eSooRy ES TTERRNGS
d. CETE iv. TS0
Codes/S*&e> : a b ¢ d
(1 1 i iii iv
2 1 iv iii ii
3) . v i+ i
4) i< v iii i

Which of the following statements is/are correct ?
a. India’s overall SDG score has improved to 71 in 2023-24. Uttarakhand shares the top spot
with Kerala, both scored above India’s overall SDG score.
b. In the latest SDG India Index 2023-24, Andhra Pradesh is placed in the “Front Runner”
category. . ERE
c. Arunachal Pradesh and Meghalaya, each with scores above 75, are placed in the &

a ety

“Achiever” category. i i T
d. In the 2023-2024 SDG Index, Lakshadweep and Uf_'_thei{'_'"Pradesh scored significantly above
the national average, demonstrating notable progress compared to other states.
(1) a, b only correct (2) b, ¢ only correct
(3) ¢, d only correct (4) a, d only correct
$od (538" STIB(R) 2B() ?
2. gTEBOY0 B, BooEo SDG ;EJ"LE 2023-24 & 71 & BoBoKDC0B. eBorpos S5¢& @Lﬁ@;@%
oS0, Doty ersadio g, 3ngo SDG 75 5o 5 S Jarowo.

e SDG qoaasr qoak) 2023-24 8 es0SRBS “Hoes-8:)5” SOR0S” eosdos.

95oET S (HBS $o00% BoPTO, 2553 75 083 8 508 “od3E” DerKos

&%oﬁaaa;ow. £ 23O DKL 5ol K E)o‘jgono

L5565 (906 e2dAD B ot Ken
] . és, 2355 £ So0050 &S0 OSSN TN
d. 2023-2024 SDG 30 E‘:’ 8 Bézjgscs{:\{ SHEHBD (B30T 0. b

8
6 Do, 3EC oo FO3 (2) b, ¢ SPE0 FTID

(1) a, b S50 $T5 () a, d SEsS S08D
(3) c, d SorEdo BSOS

23 ©)
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64. How many Rythu Bharosa Kendralu (RBKs) has the Government of Andhra Pradesh ¢

Stab]je
according to Socio-Economic Survey of Andhra Pradesh 2023-24 2 !bllshtﬂ
(1) 10,778 (2) 1,104 (3) 33,120 (4) 53,580
EIRE 2o d53005 1935 2023-24 (35750 GBS (4o 2y B 41876 Tomross (RBKw, oy
M 3200 9
(1) 10,778 (2) 1,104 (3) 33,120 (4) 53,580
65. What item(s) account for the diﬁ‘ercn_ces between GDP at factor cost and GDP at market priceg o
(1) Direct taxes and subsidies _ (2) Direct taxes net of subsidies
(3) Indirect taxes and subsidies sf (4) Direct taxes and depreciation
556 5 3¢ GDP 500050 55°8)e5 §560 3¢5 GDP o ¢y S58°5r0H O eodo(ws) S°6eo o DAY
(1) 85K 38y00 S000%H $DyEeo (2) DEG NGO HB5E D3N s
(3) 8% B5ne0 $o00%w HDiEen (4) BSsE 55900 BB SIS

66. According to the report on Relative Economic Performance of Indian States (1960-6]
2023-24), prepared by Economic Advisory Council to the PM, what are the individual shares ¢f
Andhra Pradesh and Telangana in the National GDP in FY 2023-24 ?

(1) AP-4.7 and Telangana-4.9 (2) A.P--4.9 and Telangana-4.7

(3) A.P.-4.5 and Telangana-5.1 (4) A.P.-5.1 and Telangana-4.5
BEPS500@ esBE St 850060 BATE TS 8BS M558 20785y €5 3o §edy (1960-61 Hocl
2023-24) 3B (5750 2023-24 ©0E $o585 1508’ B0 AN’ e0EHEE So00kn Boore oo
55818 e ToBo dod 2 ‘L

(1) e0GHBE-4.7 358050 Svorres-4.9 (2) 20KEF6-4.9 508w Boorrer-4.7

(3) eoEBE-4.5 $oB0%0 Boorrea:s. 1 (4) SoGERBE-5.1 308050 Beorrer-4.5

67. According to AP Industrial Policy (40), 2024-29 one of the following statements is not correct
with regard to MSME sector in Andhra Pradesh.

(1) AP accounts for 9 lakh registered MSMEs as on February 2024 according to Udyam data base
(2) Majority of the MSMESs are concentrated in service sector accounting for 79%
(3) There are 28 exclusive MSME parks in AP

(4) The MSME sector is contributing 33.5% of GSDP in AP

i b
AP Tr83"20% Do (4.0), 2024-29 -@_’;3@50 S0/ RES°Y MSME Somd& SooHo) ;&—%
o PELS0E DO WIS S0 9 )

(1) ecigho Cerdld ©S°00 HE0 2024 w33 AP & 9 ofe 53588 MSME oo domos

(2) MSME o&" 255 710 (79%) B3rSoiod” SodBao domamo

(3) AP & 28 85 MSME e SISHRE Y NetH

(4) AP GSDP & MSME oo ©c803 orer 33.5%
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8. Which of the 1’01]()\\-‘ing statements

| 2G/202
i

e

is False ?

s o petis ¢ o > currency
(1) Exchange rate is the rate at which the currency of one country exchanges for the ¢

of' another country
(2) Adirect quote is (]
home currency
(3) An exchange rate re
respect to foreign ¢
(4) There are two maj
exchange rate

. i ! ¢ unit of
1€ number of units of a foreign currency exchangeable for on

B - ith
gime is the system by which a country manages its currency wit
urrencies

Or types of exchange rate regime : floating exchange rate and fixed

EEE
RS 206 50506 e By ?

Eif.ow

69.

70.

(1) 5785 Bex> 0083 0% B0 oo, 53 087 B oty SN 578 Sew
(2) GO§ 565 30 o5 oxordes 55, 538 5r8yd Sohorio DBB KBy ooy, ATV DOPs
(3) 233 BYY%H Do20Ro B¥o

B B Ao Sgipiso SPEED Bewd FoI 0eTdd
(4) :grcsg@ Ben Fross® Bocs PES 500 &aryon : Dedoh STEED Ben Soda%w R BrEso
&0 o #

Assertion (A): Devaluation will lead to improvement in balance of trade.
Reason (R) : Devaluation will lead to increase in price of exports.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true and (R) is false e

(4) (A) is false and (R) is true &l
THEs (A) 1 (555 DS BROD Fedess HHBoTES pEIDEOL TOEK08. F&%
030 (R) @ (5355 Dend SN0 50800 GO0 H8ME0LS TOBH08.

(1) (A) 558050 (R) Botss Jeso, 3005 (R) &38 (A) G308, 585 D505es

2) (A) 508050 (R) Bo&r Jeso, 50000 (R) &R0 (A) GBo0%), 53 D56es 5250
(3) (A) dezo 306050 (R) Sy o=

4) (A) GV CIblelerty (R) Q=30

Which of the following is not the target of AP Electroﬁi’cs Manufacturing Policy (4.0), 2024-29 9
(1) Increase production in the State to USD 50 Billion
(2) Attract investments worth USD 10 Billion
(3) First time employment creation of 5 lakhs v
(4) First time entrepreneurship creation o lask Z'O) 2024-29 o%50 S0 9 %E&%
Bod 636 He AP Qe:g?)% 3 m5$°§§-ﬂ?05 206(0 o -
(1) og08" @5y8D USD 50 HOCOF 209 ggo i
(2) USD 10 80t Deds 2epptiosd &5
B) S0 5 oo H003 &0 YO

4) 9o 2 SECIVITy 2R 25 (C)
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- it of investment (Increase or Decrease) which takes place due to change in the levg|
71, The pa

. y Em\
of national income 18 termed as E’f‘
‘ L
g X
(1) Gross investment (2) Net investment
(3) Induced investment (4) Autonomous investment

s SATTAL PooS” 5570y ST @3BR Beed grR) (NS Ba Site) D57

&0e°00 7
(1) B3 deyged (2) LS el
(3) (BHS wexgerd (4) 25050 EOHY el

72. Assertion (A) : In Andhra Pradesh, the coverage of farmers under Pradhan Mantri Fasal p;-

: ; . O
Yojana has been increasing over the years. me

B

Reason (R) : In Andhra Pradesh, significant crop losses occurred to farmers due to extreme weai:

events in recent years including floods, droughts and cyclones.

(1) (A) is true, but (R) is false

(2) (A) is false, but (R) is true

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

TES (A) 1 OEEBEE Sersso0B 556 DI Bres Gos Bikow SIS Hosc e 2O
- Y ERE

55?3_‘;0{5 PR

50630 (R) 1 s0GEBE5" 559 So5ty0os® 566500, S50500 SoB05s HoDSo0 S0e3 IHSTTH

DOPTO STE0NT TEOLES NHEAALIRS Hoks SFen BogDoT o,

(1) (A) Do, 5 (R) Sy

(2) (A) By, =B (R) Deo

(3) (A) 2Ba#» (R) Sodsr eso, 578 (R) w3 (A) & 8BS D55 50650

(4) (A) 2005 (R) Bota Devo, 080k (R) 38 (A) @0y, 535 D565
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E& orthe Schncl advanced estimates of National Statistical Office (NSO), MoSP1, GOI, what is
AST sl A '

R vise contribution of GVA at current prices for the year 2022-23 for Andhra Pradesh ?

el SL\Ct or

~-36.19%, Industry-23.36% and Services-40.45%

23.36%, Industry-36.19% and Services-40.45%

40.45%. Industry-23.36% and Services-36.19%

26.19%, Industry-33.36% and Services-40.45%

5 RETOE SPOPgRA0 (NSO), MoSPI B S500850 WOIT® [BS*E0 2022-23
58 SO|SHDS GVA & D¢ Sorre grio Jo8 92 ERE
) rawo-36.19% 555-23.36% 590050 Di5e>-40.45% Bl
) ;55aeomo-23 36%, H0ES5-36.19% 50005 53500-40.45%

_40.45%, $08:50-23.36% 508050 25500-36.19%

%, HO[E0-33.36% 558050 H50-40.45%

B Agriculture
. -culture-
) Agncul

(
(3) 55;’)?3“0500

) S53e0-26.19

which International funding agencies committed to fund the Amaravati Capital City Phase-1

Development in Andhra Pradesh ?
(1) World Bank and IMF

(3) World Bank and JICA
SolEBEE BR00SD F5Hed o
b@bg&) 4

(1) 5035 ergo%d 35580520 DIODP
(3) 0 ergot SoBokn BS°

74.
(2) World Bank and Asian Development Bank
(4) World Bank and European Commission

2 55T & Deoes BTGNS o8OI eoBTBAD VOO

(2) oS &g SoB0E0 AT e 5o
(4) (555038 ergotd 3005 CHFE0HS BB

. Which of the following are the major provisions of the Industrial 'Policy Resolution 1956 ?

I. Provision of licencing. ERE
1. Expansion of public sector. E’%ﬁ.
llI. Emphasis on small industries.

(1) Tand Il only

(3) Iand III only

FOE20% D By 19568° (G MWOFSD 597
[ B2)0h GBook), d20tS. FERE
L ghsson DYBEs. Eﬁ%‘j
L 5y S0 Eseess TS,

(2) 1 and ITI only
(4) 1, 1L 11T

(1) 158050 1 S7ER0 (2) 11 50005 1 S

(3) 1 SoBosos 11 STE= @) 1,11, 11
©
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SECTION - B

SCIENCE AND TECHNOLOGY
ER )

76. What is the key characteristic of black carbon that accelerates global warming 7 74 2
e

(D) Ttis a type of methane

(2) 1tis a short-lived pollutant produced by incomplete combustion
(3) Itis released by CFCs

(4) It directly depletes the ozone layer

TS 9,8 Doy O S0y ofere Faxd 8 ohe Sisoto 3008 ?

) 3D oS S8R0 WRS

(2) 30 SV~ BFFo oo eS8 A0S D50y5°08 srendso
(3) 38 CFCo oo o0 BoKrestiosiood

(4) 30 I 288 ross §elonEinied

; : - (=l 2]

77. BrahMos supersonic cruise missile is developed by the joint efforts of =577

(1) India and USA (2) India and Russia

(3) India and France (4) India and Japan

B 2rSEIVE Eroowd 53 Des voakoy 5RE DG T,

(1) erES3¥0 So00%0 a%0.05.0. (2) arEstso Sodass 6y

(3) grE8BFo 30K FrS, (4) grostso Sodak &S
78. Disease transmitting vector is not a Mosquito for which disease ?

(1) Chikungunya (2) Leishmaniasis (3) Dengue (4) Malaria

B0 T°3S° Fso oo av5R SR %0 D8 2

(1) DS (2) O oWD (3) @ong (@) 3088057

79. Which Organization regulates Genetically Modified Organisms (GMOs) in India ?
(1) Food Safety and Standards Authority of India (FSSAI)
(2) Genetic Engineering Appraisal Committee (GEAC)
(3) Central Pollution Control Board (CPCB)
(4) Indian Council of Agricultural Research (ICAR) _ .
FOBBFS’ esogdtonT STy BodS BHeds (GMOe) 2 B0 AAHOBRICE ? [;:g
(1) DE 2 o0& Jotdy weroed e godasr (FSSAI) )
(2) E3e35 0esD00R eRed 523 (GEAC)
(3) 3o SPeudy Aosoes Sood (CPCB)
(4) 30G0HS TN &P wfise)sS 826y (ICAR)
28

[=]

o

g
[



i3

(1) Temperate deciduouns forests (2) Coniferous forests
(3) Grass lands (4) Scrub jungles

o f g Ny, At [ . . - " - - . £ o s Bl AL gy
it ‘Ih\lboc;-'\_} _\tox,‘au\.\: (RGN L:\' oore Doy Mo Dolpg WGTod | Joorod) Gaedy oCe QW
(N AR SLENEINY C:‘SC.O“C?] [T Tohe) Hh ) (2) dogrs O Wi

) Ak fomoen (4) [ eidHo

nehronous Satellite Launch Vehicle (GSLV) launchers have

AN
sl ICON] ’ : -
‘ r stage, one carth storable liquid stage and one cryogenic stage

(1) One solid rocket moto

o T — : e —
, 2G./202
e -
<l porests that are located in mid latitude arcas between tropics and polar region Z24==
av =%

() First and third stage solid rocket motors and second and fourth stages liquid rocket motors
(3) Three liquid stage motors and one solid stage motors

(4) One liquid stage motor and three solid stage motors

SErhoE S Fe3BeS rod IS (GSLV) orowsdy 93> SOR €060 9

(1) o8 300 o8 rerd &%, o8 D8 e (153 €58 SoBa0 &8 EBTeRE 54

(2) 283 SoBA JoES BT o5 0°8e5 Brerrdy 300K Bt $oBA TS GF (59 o365
JATerd

(3) SoTeo (B3 &3 eTty SHB0K0 &8 303 658 ety

(4) &8 (G55 5F ITeSd SoDA0 ST P08 &5 3778

g2. Match the pollution type with its major source. (Common codes for English & Telugu Versions)

Pollution Type Major Source
| a. Air Pollution Q‘EE;! . L. Sewage
| b. Water Pollution . R II. Industrial emissions
| ¢. Soil Pollution I1I. Use of chemical fertilizers
d. Noise Pollution - IV. Construction activities
a0y 057 O°R (RGPS Soreod’ SO0k,
| SPeniyg 680 (TP STP0
a. IO Vo L S0080i Do (2325)
b. eI sPe0dg0 II. O &Trores
c. 3o Feosso L S30HS Do TEEo s
d. %2 sPenso V. dovyes s°GsSoraren O
Codes/S*Gen : a b c d
(1) I | S A AR 1
2) n 1, I
3) 11 mIv.

4) IV 11 | I

83. How many core missions are included in India’s National Action Plan on Climate Change (NAPCC) ?

(15 () 8 | (3) 12 4) 10
TG STCD ETOB0Y rdAD SO Eerds (NAPCC) & ) BEeS DTS (o)
Seron ? ’ °
(1) 5 (2) 8 3) 12 4) 10
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[
N san s generally expressed as

Populaton de

B 1 he otal number of individuals in a population
% Gi ;
W 1he number of mdividuals perunit area
i ] . A . N .
1 1he peopraphic distribution of the population
( > 3
5y 1he number o individuals within a sample area
0O TTETORIOIT [T Sed%00SELI500) A Oy
- e ‘13 = ) ey 'il I3 =L00BICAI00 [_ﬂf,‘;.,—,,'
(1) =70 Ao JgBo IMSERN

S T - SN CIT . T ;
(2) Lt (redod’ qs";_go QOPg
(3) =gy Jmﬁb TR 9N 30063

(4) Sz @“o&cc’f&) :65*-330 PSTot:y)
o S

85. What is the primary environmental concern associated with Genetically Modified (GM) crops

(1) Cross-pollination with non-GM crops (2) Reduced pesticide use

(3) Increased yield (4) Soil degradation

LEogRTOTT 538y D8N (GM) Sotosh 90200 @Eaos ST7s008 OB FS D3 ?
(1) GM =0 S0 $8-50°kkosse (2) DSors0toe TEEo Siiio

(3) &G SRS (4) 3o &

86. Match List— I with List — IT and choose the correct answer using the codes given below. (Commop
codes for English and Telugu Versions)

List — I (Biotic factor) List — II (Characteristic feature)
a. Humans %ﬁ_@o I. Recycling nutrients
b. Saprotrophs A II. Top order heterotrophs in food chain
c. Reptiles . I Less urinating animal _
d. Camel | IV. Stenothermal
Do — 1 & erdor — 11 & 0027 Gots 0oy SGods &5@rRod K38 SITFETdy Jotksod.
DS — 1 (223735 Fg50) e — I (o8 eeo )
a. S;SHoo EIRE I Posroo d8ch Jabo
b. B’ s II. 55588 Reokdod® erD 88 B8 e Hew
c. HOgywred (Reptiles) I 8535 Soo7gs DHES T 23080
d. 2.od IV. 3658
Codes/S*&es : a b c d
(1) v 111 I 11
(2) I iR s IVe
3) I, | v I,

@ IV mou I
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E} | Green Tribunal (N
jonal L ¢ D Yokiiia .
87 Naties itor industri: KL ) wag Cstablisheq 10
(1) Monitor industrig| Pollutioy, levels
) Lnforee emission Standards vehiel
Chicley
1) Handle cases relateg O enviy. . .
:41 Regulate water qualigy, in ri\}::"'“t"lnl protection and pollution control
: : i e _ 2 e 5
Sand (0 Eeogwd (NG Ty SO0
T2OFETAS 5PN Do \ e
J) STTOD SIS BSTET08s pese. .
:"] NOR0E ?séb\g,‘m Q0B - 3%@0
T W % Dot sowohonis St 6% bae
() 22008 08 ey MO0 i
8. India’s National Action pj; ;
§8. Indi lan on Climate Change (NAPCC) aims to address *E!
(1) Only greenhouse £aS emissjopg %
2) Mitigation and adaptas; . .
( _ g _ Pration strategies for climate change
(3) Biodiversity conservation
(4) Air pollution control
TTI0E STENOD RS
g 02 FO8CH0 o e S'055306 698 (NAPCC) 630 36380550 ofgorr
e ERE
(1) ASSTS 3°cy SO0 SrES3,
(2) TTI6E S38n0 0 st 30800 950568 e
3) é;sgbcsé S0EEe
(4) Traso STl DAoEsEs
89. The terms ‘Petya’ and “WannaCry” are related to
(1) Mobile apps (2) Ransomware (3) Virtual reality  (4) Mini Satellites
2Ty So0Ad TN T @ Soreo B2 KomoBosa.
(1) 30BS eshev  (2) 555536 (3) SEnSS BardS  (4) 20D Fe3BeSy
%. Subject that is not associated with Ayushman Bharat Digital Mission E_!:l
| s
(1) Arogya Mitra (2) Health ID ia
(3) Sand Box (4) Healthcare Professionals Registry
BATLS 5 Ge2tod QWNSE’ Hoeoio B 3o )
iS5 1
(1) g s e, :
() ok - (4) 86K SosEem Adewe L
31 (©
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&_‘. q . H 1 1 e 1 s 7

' A‘” I of the following is NOT an example ofa bioremediation technique ? ==

0f, IS & Dl L
CiF =

9%

93,

94.

(1) Oil spill clean-up using bacteria
() Using plants to absorb pollutants
(1) Burming contaminated soil
(1) Composting organic waste

y =
P - (e
I_‘\_,'k} B 0 140

DO BABTBIGEN0 ?3&23@?, &OIEE S0 7
(1) erdBuirss é&xaricd DodH BN HEHSHSto
el
(2) STeoNy 57058 SOA0KITAS JooERdd e 1o bjila o tw o)
(3) SeLBBHIN Hoed YKo
(4) DoBak SzTreds oy oo
How does In-situ bioremediation differ from ex-situ bioremediation ?
(1) It is more expensive and involves transport of contaminants
(2) It treats contaminated material directly at the site
(3) It uses chemicals instead of micro-organisms
(4) It requires more excavation

-t DABTBAEADD, )-8 2FBFBGAKE $00& PO Je° &ot0od ? %"%g
(1) 386 Trer POBBS SoBATL FLLE e Trerosy SDA 6oexod i
(2) 30 Jore FHBES0 () S EeobEROS Sy ePIOBR08

(3) 30 JTEREHOK BT SFPADTOS &IBTALE

(4) B3 50008 B0 WSS

Which of the following countries is/are legally bound by the emissions reduction targets set by
the Paris Agreement ?

(1) United States and China (2) India
(3) European Union (4) None of these
03 2.5y0650 G750 DPBoBIGS ERo7e BROD OF e $od B8, IB(D) Seexsore Sexged
&0B (&) ? CIfic]
(1) coRBE Je5y $o6a%0 I (2) er5s3%0 Ofg=
(3) AHIrEHAHS AHFVOHS (4) D38 DD 8
India has the largest installed wind power capacity in the world.
(1) Fourth (2) Second (3) Eighth . (4) Sixth
BBoBesSer greStFo @ & TOBGES I3 5OA God.
(1) Treons (2) Boss (3) V&S (4) es55
32 (®)
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107. Statement A : Natality refers to the birth of individuals in population. :
Statement B : Natality rate is expressed as the number of individuals produced per female per
unit time, @ o
[ O
(1) Both statements A and B are true i
(2) Both statements A and B are false
(3) Statement A is true, but statement B is false
(1) Statement A is false, but statement B is true
TGP0 A 880 W30 @i’ S350 DHERSDO 200200
e c R : + 5 1 o5 pS S ? ER
Sgrgo B 05 QbreS socbo8 a8 b ool athg Sapnd Sge SopgTT BOSCS . M;E
- 8 €55
NSt VeTa ] o
(1) So&o Tgrgoreo A Sodakw B 2()06_:\53
(2) Too TegPrgoren A So0ako B &3y
(3) Tgargdo A NOSB, SV Tgrgdo B EXy
(4) TErgso A By, SR FgeTso B 0058

108. The “ozone hole” is primarily caused by the release of

(1) Carbon dioxide (2) Chlorofluorocarbons (CFCs)
(3) Nitrous oxide (4) Methane

“55°8 So|30” ersort 8 EEO I ASEDE0A ?
(1) °G)S GATSE (2) XS sEyden (CFCe)

(3) DR BE (4) D06
109. Which of these is not a biodegradable waste ?
(1) Vegetable peels  (2) Fruits (3) Wool (4) Tin

538" 08 erfocirs $3oEY (aBrdftmd) Sjgo s°6H 2

(1) Sroman S5 (2) Ho6 (3) &y (4) S50 (£35)
110. The concept of sustainable development was first popularized by which report ? ;%EE
(1) UNDP Report 1992 (2) World Bank Report 1985 s

(3) Brundtland Commission Report 1987 (4) Rio Declaration 1992
R0P0 LHHAQ gTSS 05 I AIQE Trgos (Frisodso Fodod ?

(1) UNDP 2385 1992 (2) B0 ergeH JIOE 1985
(3) woedersol S V3OS 1987 (4) BA>® A5BRS 1992

36 (©)
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hative to conventional pollution control methods ? EIZE]

v
(2) Bioremediation E]}";-:
(4) Incineration of waste

w s of the following is NOT an alte
(i \h“{h-ccn technology
W * Carbon capture and storage

2.5 Q) PORETTAI) SPOOME OSKae86mm 24 s
36 90 t ST WAboo(ses DQBOOYS 1:6@"31:5'L1u‘):o 5855 7

(2) 2533570028635

=

s B500ths e (4) 508 s'eyo
what is the “dual b‘urdcn‘-’ India faces in public health ?

(1) Rising rates of both infectious and non-communicable diseases

) Overburdened doctors and healthcare infrastructure

3 Lack of insurance and financial access

(4) High rates of both obesity and malnutrition

Qﬁnssﬁé-’oess grEBBHO AT oty “E53085g 50" Does 2

(1) @0t 30000 JOE00E (F°S-E50rsEend) gtson DKo B
(2) ©B gr00 &) Io5e0 SobAkn eBi Boukes STV BEFATeD

(3) D 3000 e5BY woteren (ArEyD) BEdseo

(4) &SmO So0AK0 PSS &0 Todoed Busk wf Sew

28

105. Which technology can reduce the environmental impact of traditional farming, especially in water
scarce regions ? ERE
(1) Drip irrigation EEI I 52
(2) Chemical pesticides
(3) Flood irrigation
(4) Monocropping
BO°g6E00 FPOREPAD SgSICI0 (3008, EeTErdy, (Spsert el '8 &) @romred’) Shose
FOSHES IO ?
(1) Bots> 2esgo
(2) BFaDS HSoroSsosIen
| (3) 386 dedFrsotse
| (@) Der o Soexs> o8 e Sodosw ErTEbo)

106. Which of the following is the primary goal of India’s “Municipal Solid Waste Management and

Handling Rules, 2000 ? ; :
(1) Promoting waste segregation (2) Increasing waste generation

(3) Reducing waste recycling (4) Supporting landfilling
| EEEG 0 Bosk, “5o0D%5E FOEDY 253530065 30000 50G0R 68), 20007 Booky, 7S o 50

808 e36° D6 7 i ERE
(1) S5cre Desessiso PeyroHto (2) 55052 f;.s?ﬁ Boiltéo Eon
(3) Sgo 536 DR (4o Shoiice (4) T5Eaen% Fapronto
© o
3 ©
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: ; ; ; srnie ste ?
100. What is a global issue associated with the (rans-boundary movement of was

101.

102.

(1) Reduction in greenhouse gas emissions

(2) Sustainable waste management

(3) Physical transfer of hazardous waslte for reprocessing or storagt
(4) Elimination of deforestation and desertification
IgTe DOTE eI SEDODE 520G Cady (905 P95 PR3 7
(1) ASSTR T X0 DRYsTe BRoD

(2) RPOS JgTe AT

B -
(3) 5rR2oh Sor Dog §Ro PSTEETID Sl g8 200 DaEo

(4) ©tsd) T30 350k JedESE0 ABTROD ERE
, : . fIndia ? 550
Which of the following methods is used for solid waste disposal in urban areas 0 =]

(1) Composting
(2) Incineration
(3) Landfilling
(4) All the above
P ESEHED Heyes roTd 303 SyTOH FTIR0EE (@) Bod TS E5aTHoD 3GD
D0/ ?
(1) EoFoh (STrEsness Ky AP SIrdo Baoed)
(2) &5=so
() er5obRof (Syqpos fhoted PHtato)
(4) 23
Assertion (A) : Grazing food chain begins with dead leaves via herbivores to carnivores. [ER[s]
Reason (R) : In grazing food chain autotrophs capture energy and transfer to herbivores. ﬁ?‘;
(1) (A) and (R) are correct and (R) is the correct explanation of (A)
(2) (A)and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
S (A) @ D08 558 00 (2o DE D) BP0 K08 (rE0RO TSI $o08
SFOFHEE0E BEB0B. .
5890 (R) : Fo 56 Fensod eseT((5He0 98D KoRrod Tiste 208 Bramw. E.E_l:ﬂ
(1) (A) 560%0 (R) 535D 580100 (A) § (R) 535 D56es = EEss
(2) (A)308a%» (R) 583D 5 (A) & (R) ¥3S D56es ¢80
(3) (A) £330 5% (R) $BH6 5760
(4) (A) ¥B50 56 59 (R) ¥B56

34 (©)



) pat is the primary pogy o Ingdj
:, da’s Na
YUS Nationg| Clean Energy Fund (N 'EF)?

1

1) Promote coal-based Pow

vy Promote renewable o o Beneralj

i CCnerpy V!
BY teehnglg

1) Inerease consu i i ies g . ecions
8 stove fores MPUoN of foggi 1 Bles and reduce carbon emissions
'l lmprove torest conservation - uelg (5]
= ; 5 - ACticey g
3% = BA0 $8 288 Bes actices ;'f%f
(=

5 & YOG (NCEF) ¢ :

0 TN B0 Jagd '3‘@’9) Lﬁng&@“@r)?\lﬁ 050 Joed 7
- _ & Syam

2 DOBTHES RS 3“"@@%@;@33:6&0

(3) dTe LT :Z)K)cﬁyﬁbmcl . 015(:.;; BRPOBED SaBako svsz}f; éecs:cﬁ“@é; efaﬁo.écé

& ac
el OO 3
) 259 DG SORBS S0

o}

96. Which International Agreeme
climate change 2]

(1) Montreal Protocol
(3) Paris Agreement

nt )
does not focus on reducing greenhouse gas emissions to combat

(2) Kyoto Protocol

™ (4) Basel Convention

5 @080l a0 8

005 DOC0 TG S HSBHIEE ST T SO BoBED Sy

2p05¢o ?
BE]

Sroe3oHd & ak
Q) > OFL : S>S (2) S @59 Iiip“gu

(3) o a.uac:,ocﬁo @) &b _@5&5(5
97. How many Sustainable Development Goals (SDGs) has the United Nations established ?

1 17 (2) 10 (3) 12 (4) 20

g Orezo0d Dy BoPS @OHY oFrseso (S35e08 BoD390e5 A'$y) (SDGen) Jomyen Dood ?

98, CITES (Convention on International Trade in Endangered Species of Wild Fauna and Flora) is

also known as
(1) Geneva Convention

(3) Washington Convention
CITES 9 (2508580000, 2308808700 0000
BoLTPED.

) §° eSS
(1) Edar $573%0 K

4) B eobo
(3) TolS BEFSFo ) )

(2) Kyoto Protocol
(4) Paris Agreement

38 ersiond” wolgBAb Teleso 2 HIFN0) 3T T

ofan environmentally friendly technology used in agriculture ?

. Which of the following is an example (2) Organic farming
g) Genetically modified crops ) Chenical fertilizers o
) Pesticide spraying IO T—
- gﬂoi | ol 5D 50ETe Nzoé@s@s; 08 earoes ? @‘;;:
500 2@ ;35;5 od & ) Sofahd SgSecioo )
(1) eisgssison Stz DB SOt (4) SIS D

(C)

() Dirssctoe DO 1
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codes given belgy,

124, M
» Matc ] & v Ul
atch the List - | with List - 11 and choose the correct answer using the

(Com ; .
mon codes for English and Telugu Versions)
List | List =1

Type of Solid Waste Management Function
e waste to carbon based fuels

- Ineineration EEE I, Conversion of recyclab
> Ryl E}F;': 1. Process of burning waste

g waste 1o extremely hi
rganic waste biologically

> 6t - emperature -
¢. Plasma gasification 111, Exposin gh tempera

d. Composting IV, Process of decaying o
& o - e e T N e
i - 15 etz -1l 5 5632, & BES SR B35 BITGT ey HO=IS 0.
- "J - T

-, N
ot T | i | |
o £ L -
FUG U W Uke Sk
s oy L - NEANTTS
a. &5En . ;3;;5,_.;@7{’.2655?.;5 ;»q:s;j; 3’5;:,, es705 goliaresn
)
E%E,,J ST ¢heso
b -,_r-‘.;;g_; @ 7"" - o mis. iR
. 208 Il Z5Gwids 520 (502
— -
2o R . - 3 KB maasts
C. Ty Tf‘sf;"::s;’;p M. S5Geds 505 é;,ﬂ:r?’.tzjla roomaltio
. 59 .
- - % B 5 (S5, ok B
d. 2o2*eh IV, 5ot segroiss dmisuar SP0500 P
L] - o~
Codes/z*Ges @ a b ¢ d

(2) Il I 111 v
(3) Im-  m. I IV
(4) IV 111 II [

125. Which of the following bioremediation techniques is used to treat oil spills ?

(1) Phytoremediation (2) Bioaugmentation
(3) Bioventing (4) Mycoremediation
Z%50585 D05 66 SoSeid 2od 738" D ©@BTBENS SEHD &3 ERE
": -: 93 6360 w [ & ot ) ©3C3T B—,b&o.).mp gJCéUnJ éd(ﬁfﬂﬁ_:d) ? E]-: -:i
1) 265863550 3 g -
(1) PTIACS (2) 0BRSS
(3) =37 2oeich (4) 2335':52)3(3033:3‘5
40
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Which ol the
0 Loss of Arctic ice (2) Reduction in CO, emissions

following is a potential tipping point of global climate change ?
120.
3) Increased deforestation (4) Decrcase in solar radiation

(‘$ (4 X

‘ = E fo g
A 638" (ot TErsUEes S0°dd) (Ffzacﬁ 2065 Do) GBaoky, e3yoh oot 36 7

I:\C:,.} e (%0 " X [

(2) CO, ctoro BhcD i

(4) 28 DAGEAE” Bt

(3) DOAD €980 VETYOD

(=7 ]
121, The mission of the Ministry of New and Renewable Energy (M’NRE')'is '@0;6;:
a. Energy Security v d. Energy affordability i
b. Increase in the share of clean power) e. Energy equity
c. Energy availability and access |
(1) Only a,bandd (2) Onlya,c,dande .
(3) All of the above | (4) None of the above
S 300050 DSTHTHSE 306 $o0@8s 7@ (MNRE) 305 ©F50
a. %8 g5 d. 48 &0
b. %535 (§5) 936 wreré® Bt e #8 PITHS0
c. %8 ogfs So00%0 eotioeren
(1) a, b sobosn d S (2) a, ¢, d SoBo%0 e SR
(3) 252 (4) 23 59
122. Project that is not associated with International Solar Alliance (ISA).
(1) ITEC (2) ISTARC (3) OSOWOG (4) KUSUM
300356 Ferd eecthy (ISA) & Sowotso B @rR§
(1) ITEC (2) ISTARC (3) OSOWOG (4) KUSUM

123. What was the primary purpose of the Air (Prevention and Control of Pollution) Act, 1981 ?

(1) Control air quality standards (2) Regulate vehicle emissions
(3) Promote renewable energy sources (4) Reduce use of chemical fertilisers
Tt (oot Dartes 5000 DakooEE) S0, 1981 08, S5D08 edio HDoes ? ]
(1) ™8 Tresges psTeres daHo@odto (2) TS oS Dabo@oso
(3) Dis0EmyE Hogss Sthesy Fdyrodto (4) BRPoid JtxHe Fso Shosto
39 (C)
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115.

116.

117.

118.

119.

What is the primary source of air pollution in Indian cities ?

(1) Industrial emissions (2) Agricultural practices
(3) Residential waste burning (4) Automobile emissions

DA BNOG, T oo B 0700 Jed ?
(1) FOFEWS &GERO° (2) S50k HGBowO

(3) DT ST FOYE0 (4) T (et53nB6) oo

Which of the following chemicals was released in the Bhopal disaster of 1984 ? g @
(1) Chlorine (2) Mgthyl—lsocyanate (MIC) o
(3) Ammonia (4) Hydrogen Sulphide
5 800 Srahrod’ 1984 & §'6 D8S" Desotse eoooSs B 2

(1) £05 2) 23S 2dF2¢5 (MIC)

(3) @B 4) e $ByG
Which of the following is not one of the three pillars of sustainability ?

(1) Environmental sustainability (2) Economic sustainability

(3) Social sustainability (4) Political sustainability

B0 Te36° DO SRyt ook, Mot Jogred” a8 S ?

(1) Borgs0es 2RSS (2) e0% 50308

(3) TS WP (4) credosh BT

[EIEE

What is the primary application of bioremediation ? ’E{-fgu

(1) Air pollution (2) Soil contamination

(3) Noise pollution (4) Waterborne diseases

DEBIBIAABS Booty, (e DITTHo BIS ?

(1) Zro%» sPeuo (2) Jo sevso

(3) ¥ P50 (4) D63 go° Sy Toeo

CR in JUCN red list refers to %{%‘%‘

(1) Extinct in the wild - (2) Citically extinct

(3) Endangered (4) Critically endangered

IUCN 2855 e8@°6" CR B 8570908 2

(1) S e0s88oRfood (2) B35S wossBoDto0d

(3) ©oBBoDA B0 4) & Esrsos &od

38 ©)



g

Fl

(.

112.

113.

114,

2G:/202

Y

.\\'h;u is the main advantage ol organic farming over conventional farming ?
(N Inercased pesticide use

%) Higher crop yields in all conditions

3) Reduced chemical input and improved soil health

4) mereased greenhouse gas emissions

5 oSO S50 oS Hooh Sysrato Busk), B EEreRse D003 ? @.gé‘._@
(1) DENBZ0E TEEO KOS Dl
2) & ;’36?89‘33@655 208 Hoty BS

(3) BN o Sfero SodAkH Jo ebKzo JoBoir5Ee0

(4) BSTTR om0 &moren Ko

Biogeochemical cycle in which the main reservoir is not the soil

(1) Sulphurcycle  (2) Nitrogen cycle (3) Phosphorous cycle (4) Calcium cycle
D BETFRBIINES S¥s’ Jo (35 Becand S 9 |

(1) S 3o (2) DeSesd Sgo (3) grRgtio SEo (4) s*dado SEo

What is a key goal of sustainable development ?

(I) Economic growth with no concern for environmental impacts

(2) Ensuring social equity, economic growth and environmental protection
(3) Limiting global population growth

(4) Promoting environmental conservation over all else

o0 @S Bk, So¥ oo D03 ?

(1) SIogsses Parare Hey Jeroed $e30DBV 08 HO

]
fidts

(2) BB DHSPSB0, &Y HG SO0 BOTgHEE HOSFEAD PG
(3) B0 esreT ML HOJFo ko
(4) @Rye35083 HomgstEs SOTEENS FPEyrolito
State that produces highest solid waste in India
(1) Maharashtra (2) Andhra Pradesh
PEEBEHOS" e 308 SgpoBs BB Do O°ge
(1) sosforg (2) esosERaE

(3) Uttar Pradesh (4) West Bengal

(3) &BS (33§ (4) B8y Dores

37 (0)
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ﬁ\i;uch List ] ‘-\I.Th- “rF . Land _\‘I“‘U“:c the correct answer using the codes given below. e
120 ges for Fnglishand Telugy Versions) [w17==]
codes st — 1(S s __r-‘_ "‘.-:_"7.
L : _\( “ulm‘l ark) List — 11 (Capacity in MW) [ 2%
- Hybrid Solar Wind Park Ramagir 1. 1000 ; o
1‘1‘ Ananthapuram-I Solar Park II' 16
_ Kurnool Solar Park lll. ],;30
k{' ynanthapuram-11 Solar Pk IV- 560
e 120 — 11 & 08 won = T
e «I T VY00 SaBatko (3ot 30y Som esarRod SO HETE T
W wDe — 1 (D36 >8)
e T —
2. SN0 TOS D8 Jo& 8, 1 ltlo(f?émmgess o 2o
b, oS00l FoS G . 160 C
.. sames B8 36 1L 1500
. e30898o-11 DS 8 ‘
. b IV. 500
CodCS/SBEw : a b c d
(1 I m v g
(2) I I m
3) IV I
4) I m v

(77, Which of the following is true about the “Circular Economy” ?
(1) It focuses on reducing the use of fossil fuels

(2) 1t promotes the_ reuse, recycling and repair of materials to reduce waste
(3) It encourages linear economic growth

(4) It focuses exclusively on reducing carbon emissions (=153 =]

STTE B8 STHO (989,508 I552) Mow0BoD Eod 436 DB Deso 2 oy

(1) 38 3ere: godre é’)ﬁjcﬁjﬂm‘ib BROUEOD o) EBOD

(2) 30 B5gess BRoBERS Srrge HIE ko, HIVRETO (BpE0R) $oBA0 Sot55yHes
@6@335"@0{3

(3) 90 DT B (DAHE) es8s 5B Bsyri000

(4) 30 Gy Elaye) SRS é@oédeﬁfs PBgEor cyn 8308

8. Which of the following government initiatives aims to control industrial emissions in India ?

(1) Swachh Bharat Mission
(2) National Clean Air Programme (NCAP)
(3) Pradhan Mantri Ujjwala Yojana '
(4) Atal Mission for Rejuvenation and Urban Transformation (AMRUT)
TESIH0ED) Bs 8o Babisy SEITeS 00 FOFIS GGTes AALo@osEE edtosndos ?
2) 3556 §5 Db @FeSo (NCAP)
0) Borissoo® eee cres
) Dssodisso ssdato Higes $03GS 50 66 e (9:S)
41
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129,

130.

131.

132.

2(;12[11

( :1‘;“}?‘: the correet statement. gt
( roducers in an aquatic ecosystem are green p anls
R HELR L v from chemical ¢ unds
(2) Archea are a type of producers who use cnergy I_m!n L.Iiu,mu,al compot
(3) Consumers arc heterotrophs able to produce their fooc e
orh sy . - -+ YR fd L]
(4) The stability of ecosystem depends on consumers. . el

VO (28LN oS o, OFgs
(1) Qe Sorgoes Bgund” wionly Swuked el BE"ton ‘ o
(2) SYHAT BIO SIrAHS BT Sooch 35 df.?bcﬂyﬂg? e BB CulhyHTT B0
(3) INDFHG o0 B350 Ty ity Sabre E6 L Heo
() Joguses $gsy o), YBE0 AVAFREEOD es(eCh €000
What can be considered a natural source of air pollution ? ‘ e
(1) Factory emissions (2) Power sta.tlon smoke
(3) Forest fires (4) Automobile emissions
N0 SPeuio Glol), M Soreo @ B BIE ? :
(1) 530 g (2) 936 QB3O N
(3) @ Ssotren (4) TTS oo
Match the following : (Common codes for English & Telugu .Versions)
Waste Type Appropriate Disposal Method
a. Organic Waste =[] I. Incineration
b. E-waste , Kn'a;‘g II. Composting
c. Hazardous Waste Bl MI. Landfilling
d. Broken glass pieces . IV. Recycling
S5 55 TR $B% Sohod (disposal) SGFHE’ K0Tk,
5‘3 9. o [~
$5% S50 Sonod (&ud) 1558
a. vodab Sspes I. &0 IR
b. éa—f)?;g Il SorgSo00d0 22y B0 BOSTES }1;"

Baooes (SoDYoh)
C. PITEEE Sspeo I Ssros foted $rdo (orso&ndoh)
d. SADS rrer Sase IV. %5 DIGrio (5goh)

Codes/S*Ees : a b c d
(1) o, v, 1 I

@ Iv. 1o mI
3) t: T¥& I, L

@ IV I 1 I

Ayushman Bharat primarily aims to provide healthcare coverage to which group ?
(1) Urban middle-class families

(2) Rural and poor populations

(3) Senior citizens

(4) Private healthcare providers

50500y eSS RSO S8 es&° 5, R0TEEISS eoBoitio OESOMT DT ?
(1) 5880 Sogig-BEHE Srtaoered °

(2) (TRoEs SoB0K1 D WP

(3) SArEe (WIAHE elesiso)

(4) Bebeos Somogo B esBs SosEe Porsen (g:_ﬁ)es E3E (@DRE0)
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ﬁ 20:/202
' certion (A) 2 CFCS are pron
I-ﬁ' '_\hfifq:it"l on carth. I'C l_ﬂl'«.knhllnﬁc £ases that contribute to climate change and increase | IV
“;:.,.sml ‘(I.{) ; {'|1Inl‘uﬂllm‘nunl'lmnq T ¢ o e e w172 15]
it ".OH\L:I“nl;‘i'].:}nnd acroso| SI“.;W‘H (CFCs) are man made gases used in refrigerators, | ];: )
A) and aArC COTeE! amd o . - Ve
"11; ([,;\) fmd (RY are "‘U"I‘Lc:l;- -ll:lll(ll ([II{{)} I‘w the correct explangtion of (A)
) (A) 1- correct but (R) iy not Cm_l_':cllln[ the correct explanation of (A)
(4 (-'\)]IS g;lC-C()rr;c: but (R) is Correcy
PO (.J\A: F-. QO (03T D OK05Se B = -
UV S@AbIRN dodosrow, V. 3 e BIErN0Es &t D000 DDLU BT 2
Fo0E0 (R): gjéﬁﬁﬁaqgnéﬂ‘sm (CFCe 5 T
&mv:)oig;ié(?gﬁawm@mm) OwEBeathy, donb Kodit) $obks DTS (5ed
1 ( SR
:__j} (A) 58053 (R) 55559 ?E?C(iw (A) & (R) 33 Disoses
(51 (A) 5358 5D (R) 3858 S“CSQ) > &) O DSSed 5
@) (A)R3BB 50 (R) 5o
ssertion (A) : National B;j e
[ ?rains ot production ot ethlac:flllt%i?COOrdm_atlon Committee needs to approve use of surplus food
l;._{ o) ¢ Daraene ato' or blendmg with petrol. ;
surplus production phase. risk of not getting appropriate price for their produce during the
Bre
(1) (A) and (R) are correct and (R) is th . Qg ==
(2) (A) and (R) are correct but (R) is nof the comrant exrlaortion of (A) O
(3) (A)is correct but (R) is not correct Xplanah
(4) (A) s not correct but (R) is correct
Tiz g;) g:gfeﬁ;mgaé 3ETS &EBE Doroen €5 Trrge BT erBok &5 3oES
BRIV &3 o).
8830 (R) : 20000 es8yD 65657 Beiootsr 650 ettt 335 656 0Bosd (S5760 &ob.
(1) (A) 5805 (R) 53 50803 (A) & (R) 5358 D56t
(2) (A) 500050 (R) B85 50 (A) & (R) 985 Dstsen s>
(3) (A) 3356 = (R) $T38 ¢8>
(4) (A) 8356 550 570 (R) 5858
. . X =2
135. Which global summit led to the adoption of the “Agenda 21” and the “Rio Declaration” ? F{?ﬁ@
(I) Kyoto Protocol (2) Earth Summit 1992 ?i‘:'z
(3) UN Climate Change Conference 2015 (4) World Health Assembly 2000
D (55033 BPOPT BRI (b $52ye5) “eBoG (SUES> Bed8) 217 SoBoks “BB» ASE9S”
(OG3r (95e0:3) e3BTBOSERE TrOdROD ? °
() & Bressd (2) & $%¢e5 1992
(3) UN 53065 S0 57,35, 2015 (4) 385 7§ &208 2000
B6. Pollutan produced by vehicles that reduces the Oxygen carrying capacity of Blood
(1) Sulphur gas (2) Carbon dioxide (3) Nitrogen oxides  (4) Carbon monoxide

TIe TG0 &xehy® DoRES D sreniy 7850 850 Aoo¥), es8yez0 IR ‘5"3530;5?3:1 SR 9
) 5o rams () sodcarsh () 2edeRn () sudoond
43
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137

138.

139.

140.

?lu)mg'(t;mt:'lsL{l:m:l-“.l‘c under the Department nlh_“i“'“"'l""’]%)’ (DBT)
(2) (‘Cnlr:ll (‘{I-Uf ‘ ll:CIlllti!(mglc:il Rescarch Institute
(3) Ccnlr:: ['ulr t:!sh C cramic Ruscurch In.a'llllulc .
- or Innovative and Applicd Bioprocessing
£4) F(.cnll:: for Cellular and Molecular Biology _ i B @@J
I RR00e5 s W33 Gsyed (DBT) @od 55050 (3D 150 S0k (T2 Gelig=2 5) E]?‘,,

(1) Rosd HE Bomyoesd E26) adkearses

(2) 2osd il ook &6y gogearses

(3) 2066 6 3T\He35 ok ek wdr ok
(4 2086 $6 vedgerd wol E:U:’-@éJES@E e0froe

Match List — I with List — I and choose the correct answer using

codes for English and Telugu Versions)
List — I (Pollution) List — I (Pollutant)
a. Marble Cancer . I. Methane

b. Biomagnification  ERE I1. Nickel _ , e

c. Green house effect, F%_ L Sulphur dioxide and nitrogen dioxide
d. Lung cancer - D IV.. Chlorohydrocarbons
DT — | & e — 11 8 5020, Bots 00d)I PEB EdE3TNOW $3S H5T”
Do — I (sPeoigo) wdee — 11 (Tredidy SUE0)

the codes given below. (Commgy,

Gy dodoS el

a. S5 S5 I. DoBd
b. 2@BrSrhPEse 1. 986
c. (S 55 Herso L S0y5 cEasrg)le $005 3T EATé
d. &880 57550 V. E£67ESE5
Codes/S°Gen : a b c d
(hy ~m. v Lo
@ m 1 v I,
@ n- m. L IV
@ v o

Which of the following public health campaigns was launched to improve sanitation in India ?
(1) Swachh Bharat Abhiyan

(2) Pradhan Mantri Jan Arogya Yojana

(3) National Tuberculosis Elimination Program

(4) Mission Indradhanush

erE5B0E" 8od T3 O ($erB Ky (ST 07D DD FoLOBESEIE FrSodoT s ?
(1) ésﬁo erGh B)aSTo :

(2) B 500 &5 sy Bred

(3) DD KO AETos SC5E80

(4) D05 F0(E5GHSD,

D
i

Anganwadi worker is a functionary of which scheme ?

(1) ANM (2) MMU (3) ICDS (4) NHM
WONST e SESEEE H020Q0NS Bk OO 9
(1) ANM (2) MMU (3) ICDS (4) NHM
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[, Reason for the melting of Gan
(N Global warming
(3) Particulated dust
i s
25 reroS W NoR @ 2y

e

14 gothri glaciers of | limalayas
(2) Chloroflourocarbons
. (4) Green house gases
S50 TH0 (Rerd e -J[iécrco SONFSG 8 580
G B8 g i g (2) ST TGy
(3) & Qb&’suaw S (4) rfnf: “J':"ﬂ TS
142, Match the following : (Common cod
Waste Disposal Method
a. Landfilling ERE I
b. Incineration R L
¢. Composting =
d. Recycling

es for English & Telugu Versions)
Pros/Cons

2 B, v ONT = =
gso;e;;’)_) PEID o.)%)@@ O°R) &Pgren o STos 566

Low-cost, but has long-term environmental impact
Reduces volume of waste, but emits pollutants

L. Produces useful by-products like biogas, but requires land
IV. " Conserves resources, but needs infrastructure

2G:/202

Syel~H
SREmao [4255n6) Hb Teroo/idpes
2. T5ebgoR L 893 56, 5D Bys08 5075500 (Eera-d) SOA €00l
b. 8530 L Syoro 505rerd) $Axg08, S0 Swy SOSod 2660
EIRE et
c. SoFoh ‘J:g ML ex@BrmgS Soe3 &BEBIrREERS e eSyg 9R2
[Eé== 5 200 e5080
d. 6280 IV. 556085 50585908, 59 STOE S0l o
Codes/S°Een : a b ¢ d
(1) nm 1 I 111
(2) IV 1 nL 1
3) I o I 1V

4) v 11 I 111
143. Assertion (A) : DHRUVA is India’s largest nuclear research reactor.

Reason (R) : Advanced Heavy Water Reactor envisages large scale utilization of plutonium bearing

spent fuel.

(1) (A) and (R) are correct and (R) is the correct explanation of (A)

(2) (A)and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

55 (A) : DHRUVA &30 eros884:9 @8 26 e 305 ¢S dairgb.

Tea0 (R) : excSomeess 2370 T°6o6 BOrEE SeS R0 &) Sy IS 30T DG IS

RBTAZ0E.
(1) (A) 508050 (R) 533D o805 (A) 8 (R) 335 9383
) (A) 58055 (R) 5359 =D (A) & (R) S8 D563 5360
() (A) 5358 59 (R) $B30 56>
@) (A) 5356 ses> 0 (R) 3830
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144,

145.

146.

What is Digital arrest ?
(1) Arrest made by police when the aceused is in foreign countries
(2) Arrest made by police when the acensed cannot be arrested physically
(3) Arrest made by police when the aceused is granted anticipatory bail by courts
() Term used by eyber eriminals to scare vietims
e
@St Q3R wo D ngflc ]
(1) VodBes VB350l dmypoytio Ahows B ¢y
(2) VoBBY g ®son wBY Bonodiuiyts FFdives B ¢y
(3) Vodsedd Sgen saociy Bowd gyosys Fdies Io ¢y
(4) Db Jomray) arpsoos ok LEJorsoth TG B0
State which is the largest producer of wind energy in India
(1) Andhra Pradesh (2) Gujarat (3) Tamil Nadu (4) Karnataka
rOBBE0S” 0N 558 ¥80 ey B ovge 08 2
(1) esospds (2) Kouod (3) BAWTeid (4) Eges

Match List — I with List — I and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)

List — I (Emerging Technology) List — II (Scientist)
a. Artificial Intelligence I. Kevin Ashton
b. Open-Al I1. Sam Altman

c. Internet of Things (1oT) m__#n_ III. Thomas P. Caudell
d. Augmented reality [V. Alan Turing

o — 12 erdor - 11 8 30Fenod $58ak» B 33 FEoss &ndiriod B DETET )
Do 8o,

wpDEs — 1 (W5sQ0f Smyerd) Do — 11 (533) e
a. K50 Bo¢soy I 32 espo ?‘ =
b. £ Al (Open-Al) 1L o esgioed
c. 30eByes esp Gofy (loT) . 508 . Tad
d. wRods Bosrded IV. oors eargdoh

Codes/5*6es : a b c d

(n | 1 MY 1l
(2) v I 1 Il
(3) 1Y I I1 I
4) I 1V Il I
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147. which Indian city 1s recognized for adopting zero waste concept in solid waste management ?
(1) Mumbai (2) Delhi (3) Pune (4) Indore
i W LA TS v .rﬁ e AW F. = 2
W 95Q “}‘25")_ 20" (9 ‘?‘“‘ 3‘3 3ER00e5) Q0T D5 DT ( 25 25 SnR) (=I72 ]
aROONOEIEINTEI D grEHOT $KE0 1580 Drodod ? ‘ (=]

(1) o008 ) &d (3) 3 (4) =286

148. Choose the incorrect statement,

(1) CO, is continuously being released because of human activities

(2) Deforestation is decreasing the amount of CO
2

(3) Oil spillage causes oxygen depletion and distress to aquatic animals

(4) Burning of plastic reduces the germination of seeds in crop fields
Sy (50 JosoEod, '

(1) 35738 s*Gg¥erare soSmom CO, oS0 esotse JasertiosSod
(2) @t T8 CO, 0Ty BRI
< -5 A

(3) 1:5;’:135.) D0 S esdesS BN 20IC0LH 00en0d FoorHhHdood
(4) P80 eto I Boks Ford Do Jwesto SI{8000

149. Radio Astronomy center is located in

(1) Trombay (2) Ahmedabad (3) Dhanbad (4) Ooty
3G PR 7°R Soo IYC &od 2
(1) erods (2) eymerd (3) &Serd (4) 203

Which of the following factors contributed most to the burden of malnutrition in India ?
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(1) Lack of access to clean water

(2) Poor dietary habits and food insecurity

(3) Overconsumption of processed foods

(4) Increase in environmental pollution
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